44th Petrozavodsk Programming Camp, Winter 2023 @ ?
Day 4: KAIST+KOI Contest, Grand Prix of Korea, Friday, February 3, 2023

Moscow Workshops

Problem J. Squirrel Game

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 1024 mebibytes

Twinkle and Nova are walking in a national park. There are M stones laid out in the park at positions
1,..., M, from left to right. There are also IV squirrels on the stones at x1, ..., xn, from left to right. The
squirrels are on different stones from each other, and they are all facing left.

Twinkle suggests the following game to Nova. Twinkle and Nova take turns alternately. On each turn,
a player has to place an acorn on one of the stones without a squirrel. Also, there must be at least one
squirrel to the right of the acorn.

After placing an acorn, the leftmost K squirrels among the squirrels to the right of the acorn start running
towards the acorn at the same time. (If there are less than K squirrels to the right of the acorn, all of
them start running.) All the squirrels run at the same speed. Once any of the squirrels reaches the acorn,
all the squirrels immediately stop. The squirrel who has reached the acorn puts the acorn into its cheek
pouch, effectively removing the acorn from the stone.

If there is no valid stone to place an acorn on, the player currently taking the turn immediately loses.

Twinkle goes first. Determine who will win if Twinkle and Nova both play optimally.

Example Game (M=7, N=3, K=2)
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Input
The first line contains three space-separated integers, M, N, and K.

The second line contains N space-separated integers x1,...,TnN.
e 1 <N <M <100000
e 1<K <10

o 1<m<...<aNy<M

Output

If Twinkle wins, output Twinkle. Otherwise, output Nova.

Examples

standard input standard output
732 Nova
147

731 Twinkle
147
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